Non-AP Calculus  Ch. P1-P2 Quiz Review

I’ﬂw Solve for x by Factoring

\

1) 7X*=6-19x 2) 12x2-10=-26x
Factored Form: Factored Form:
Solution: ’ Solution:

3) Identify any intercepts ( if any) and test for symmetry =~ y=25x- X

~ x-intercept(s): y-intercept: Symmetry:

4) Identify the type(s) of symmetry for: x*y* +2x%y -1 =0

5) Find the point(s) of intersection (ordered pairs!) of the graphs of the equations:
x?+y*=25
SBx+y=15




6) Find an equation of the line (point-slope form) that passes through the points (-5, —9) and (-6, —l)k

,/w/

7) Find an equation of the line (point-slope form)’ contammg the point (-1, 7) that is perpendlcular to the
line 4x — 5y =17

8) Find an equation of the line (point-slope form) containing the point (-6, 12) that is parallel to the line
6x—-13y+8=0

9)  Write an equation of the line that passes through (-3, -5) and is perpendicular to the line x = 2

10) Write an equation of the line that passes through (2, -5) and is parallel to the line x = -5
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e w Solve for x by Factoring

1) 7x2=6-19x RN 6;;’; 2) 12x% - 10 = 26x . iﬁ; |
A3419x ~6=0 Eﬁé’: ’ 12x 4 =/ O = 6 725 (3’453 ‘:’;
(x-_%)(x+3> ' 2(6x2+/3><..5)10 -
(Px=2)(x+3) (x=§)(x+£)
| 2(3%-)( 22+ 5)
Factored Form: (7 -2)(x+3 ) | Pactored Form: 2 (3¢~ )(&x+§)}
Solution:_X= /5 Z,73 | solution: X=%5 "%,

3) Identify any intercepts (if any) and test for symmetry  y=25x- x3
Q‘j) = 25(-%) -(-x*) 7 2 25x—x2 | X~int: O :25:*‘0(} 1 x=0
—y= ~25x +x> [ O =X(@5-x>)
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4) Identify the type(s) of symmetry for: x2y* + 2x%y — 1 =0

C,-x)’j"‘h’i(—x)j ~-[=06 m
2 4 2 ' f‘
Xj +Z><j ~(= 0O ‘/

) x-intercept(s): ( Q)O)J( 5_: v ) y-inte;cept: (o 0) Symmetry: O\f:’jé N Sy MM‘IL(J '
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5) Find the point(s) of intersection (ordered pairs!) of the graphs of the equations:
x?+y?=25 S / P :
o(x*+9x+ 20) = O
3x+y=15 Xty = 0/2 g

;- A | | ro(x+4 ) x+5) = ©
= 3x+45 | 5
g - 2 ( 3XT/5)2: 25 | , )

X+ (3x 5)(3xt15) =5

) BB AA5 =25
[ox + 7oy +200 =p
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6) Find an equation of the line (point-slope form
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point: (=5, -7)
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) that passes through the points (-5, —9) and (-6, -1)
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7) Find an equation of the line (point-slope form) containing the point (-1, 7) that is perpendicular to the

line 4x — S5y =17
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8) Find an equation of the line (point-slope form) containing the point (-6, 12) that is parallel to the line

6x-13y +8=0 / foin‘l': (-6,12)
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9)  Write an equation of the line that passes through (-3, -5) and is perpendicular to the line x =2
=5
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10) Write an equation of the line that passes through (2, -5) and is parallel to the line x = -5
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